t @ u[>n ﬂ Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
6, 936 x 100000 = 3,176 x 100000 =
3,015 x 100000 = 2,347 x 1000000 =
4,143 x 100 = 4,369 x 1000000 =
4,048 x 10 = 10,282 x 10 =
1, 139 x 100000 = 3,61 x 1000 =
5,051 x 10000 = 1,281 x 10000 =
3, 044 x 100000 = 3,376 x 10000 =
5,62 x 1000 = 6,956 x 1000 =
7,382 x 10000 = 5,55 x 1000 =
9,592 x 10000 = 4,878 x 10 =
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t @ -R ﬁ Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
6,936 x 100000 = 693600 3, 176 x 100000 = 317600
3,015 x 100000 = 301500 2,347 x 1000000 = 2347000
4,143 x 100 = 414.3 4,369 x 1000000 = 4369000
4,048 x 10 = 40.48 10,282 x 10 = 102.82
1, 139 x 100000 = 113900 3,61 x 1000 = 3610
5,051 x 10000 = 50510 1,281 x 10000 = 12810
3,044 x 100000 = 304400 3,376 x 10000 = 33760
5,62 x 1000 = 5620 6,956 x 1000 = 6956
7,382 x 10000 = 73820 5,55 x 1000 = 5550
9,592 x 10000 = 95920 4,878 x 10 = 48.78
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